
Subject: Re: No back propagation to IP for V_0 reconstruction
Posted by StefanoSpataro on Thu, 04 Dec 2014 12:23:00 GMT
View Forum Message <> Reply to Message

How do you see that there are no differences? You should overlap the two histograms (and not
in 2 separate plots) and plot in linear scale.
In any case the trick works for lambda, as Karin checked, maybe it does not help k0. It
depends also on kinematic of the event.

Page 1 of 1 ---- Generated from GSI Forum

https://forum.gsi.de/index.php?t=usrinfo&id=306
https://forum.gsi.de/index.php?t=rview&th=4498&goto=17635#msg_17635
https://forum.gsi.de/index.php?t=post&reply_to=17635
https://forum.gsi.de/index.php

